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Question Number : 1 Question Id : 9032014504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The highest proportion of urban population is found i -----------==------ :
©&08 HE BT BDPEIN —--- & ©bHHoDHD

Options :

Latin America

erdS oo

1. %
North America
5 @ 688 ol
Europe
o vsiletd
3. %
Oceania
5.8005me

Question Number : 2 Question Id : 9032014505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A Megacity in a worldwide context has a population > ------------ million.
(@30S ardore Dore $ridan ©HIG------ DD arrge QEEER SN
svivlelataV

Options:



3.5
, % 2

3
3. %

10
4.

Question Number : 3 Question Id : 9032014506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Ganga River Delta 1s of type

Ko J:‘wé; E-&E—————- @=eSSnE” dmothsh

Options :

Arcuate

e Twil=Teruey)

Bird’s foot
HD=eartsn

i

Truncated

3 % SV leTATNEN VY

Estuarine

ENTATNYIL



Question Number : 4 Question Id : 9032014507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Maximum numbers of Tropical Cyclones occur in ----------=======------- :

@els ﬁoa:g@; Segishotie SSrdane ——---€ ©MRoww

Options :
Maharashtra
DFETS

1. % ®
Tamil Nadu
ST

2. %
Karnataka
somes

3. % s

Andhra Pradesh
Wo|HBBS

Question Number : 5 Question Id : 9032014508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Himalavyas have more of-------------------- ;
PArOIrOS - ——————— BN BOADOMN

=

Options :

1.4



Mechanical Weathering
dirol@S 3Gersin

Chemical Weathering

5 % SPCHS BoesEw

Organic Weathering
808 3ersm
— e
3. #

L]

Anthropogenetic Weathering
i L

& A F -
AP BRe BHeraD
4, %

Question Number : 6 Question Id : 9032014509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Close spacing of contour lines indicates

08 3HENED $TrYS BDve wrTe —--—-- O YO
Options :
Flat area
Javde (Frodsw
1. &

Higher slope
@l5 e
2.

Similar land use

3 x B0 SRS



Direction of slope
ren G &%

Question Number : 7 Question Id : 9032014510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Soil maps are
a3 e.éé Séoainen —---

Options:

Qualitative Thematic
roesed)s DRCH ATIBIW
1. ¢

Quantitative Thematic
g 20Xreed)sS DHROD Eﬁ S50
2. )

Qualitative Non Thematic
e DXCL JBIBI0=AL

3. %
Quantitative Non Thematic
E:E-aﬁcaﬁe;‘s‘éé DHOH IBIBS0==R6
4. %

Question Number : 8 Question Id : 9032014511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Close spacing of contours in the middle associated with sparse spacing on the
periphery of a feature indicates -----=====n==z=mmnmssao- ;

tﬁ{jé’rrﬂ a)indod Xary)stp DR dapdine gree eosdin oFpdn @E)
{ Q 5

=4 &

©oth Srddol------
Options :
Concave slope

eSS
1.9

Convex slope
505FRE TPeD

2. %
Stepped slope
, A EvEleviEwul 3V

Uniform Slope
[Bsoaé&aeen
4. %

Question Number : 9 Question Id : 9032014512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

projection 1s generally used for navigation.
—————————— (EER50 FIEEr TEErSE0D ad@rhohind

Options:

Mercator’s
S0)08)
1.9



Conical
SoBu=S

Mollweide’s
SrODE)

Cylinderical
Searsed
[}

4. %

Question Number : 10 Question Id : 9032014513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Thematic maps are --------------- maps .
AL (o) 5@%& S Digsnen ——-- Déawen
Options :

Special purpose
S8 BEIEw (Barescn)
1.9

General purpose
PP (DTredan) eBdaw
= o
). %

Topographic sheet
DeEH & 8¢5
& e

General reference
PSS VS5
(=



Question Number : 11 Question Id : 9032014514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When a small sheet is usecl to dlem a large area like the U.S. A. the map 15 of---------
a5, 6%, @) erod) cocﬁ ) I3 &85 23 0B8005AS D ---- Basn voirl.

Options :

Average Scale

B i
cd D% el n.el'?.f'

1. %
High resolution
w3 BT2)T0
2. %
Small scale
AR ‘a:.;e?
3. v
Large scale
G S
4. %

Question Number : 12 Question Id : 9032014515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Population Density maps are-------------------
BIRgr ENARo|lE Strer @R -——-—---

Options :



Quantitative Thematic
DCIrerd)s DHch JJIBaw

1.¢
Qualitative Thematic
roed)s DN "“d%t‘"““
2. %
Qualitative Non Thematicc.
s DRCH TEEED ==L
3. % ? ®
Quantitative Non Thematic
4 oSS S DHaH IBIEw 52

Question Number : 13 Question Id : 9032014516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A progression from coarse to fine textured design patterns carries a ---------------
magnitude message.
Snds Dob IS o8 o GBS Jdrmry S § K68 $05rno Soddo

Options :

Less to less

S5 oD ELD

1. %
Less to more
S5 ool o
2. ‘-‘{2 ' L=

More to more
ﬂ&;&:ﬁ nod BN
3 %



More to less

Al 5| -
DEND Dol S5
L]

Question Number : 14 Question Id : 9032014517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Collapsing in cartographic generalization leads to -------====-=-===--=-=-=- :
SPHOE Dol FedBEsn HoNPIESN S ——---- OF DS
Options:

Point becoming line
fHotha) On vzHeold

Point becoming area
=5 i EAY 4
5 % Dothy) ZI8w exydol
Area becoming point
g8 dothy) wipdol
3. v
Line becoming area
4 % O, S8sn ool

Question Number : 15 Question Id : 9032014518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A map with a scale of --------smmmmmmm- is a large scale map.

0.8 HeSnet-——- S ?ch'i:ﬁ HET DenHDHD
Options :
1:10 Million
1:10 oDOHI
1. %
1: 100.000
1:100,000
2. ®

1: 1 Million

1:1 S00SHS
3. %
1: 75.000
1:75,000
4. &

Question Number : 16 Question Id : 9032014519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The highest peak in the western ghats 18------------------- .

LY Dot QBY BPpBan—=————-

Options:

Anamudi

@55
| ORENE

Dodabetta
GEDe
2. %



Meesapulimala

DHHDe
3. %
Mahabaleshwar
 So%erEeeb
4. % B

Question Number : 17 Question Id

: 9032014520 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The highest peak of the Zaskar Range 18 -----------=-=======-==-- :

x5 (3BS° 2B Bpdaw

Options:

Namcha Barwa
=,
Jentd el

Kamet
Soo0ed

Dhaulagiri
T eond

Kanchenjunga
SodS morr

Question Number : 18 Question Id

: 9032014521 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The longest beach in India is situated at----------========------ :

FOSTITNG PEZD LS —-—---- & JoFTEI0
Options:
Mumbai
3020PON
1. %
Chennai
D)
i
2.
Mangalore
o=
3. %
Tuticorin
&5
[==9
4. %

Question Number : 19 Question Id : 9032014522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

-------------- 1s a volcanic 1sland of India.
FESTIENS Y MBS S &rdSeyEn-—-—--—---—-

Options:
Narcondam

5685 088N
1.4



Pamban

, % Hord
New Moore

3 % gl
RﬂlllESll"ﬁ’ﬂl’ﬂlH
U"Eﬁ%f;ﬁﬂ

4, %

Question Number : 20 Question Id : 9032014523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Shillong 1s situated 1n--------=--=========-=-- hills.
2erofy —————-- Solend ST RAEIL

Options :

Garo

aile)

Naga
e

Khasi
=

Mikir
086



Question Number : 21 Question Id : 9032014524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which part of India is the volcanic barren island situated?
PEST IS0 & grrisns® ONHSE o0z L Soyn Soth --------

e

Options :

North Andaman

& wodsre
1.9 e

South Andaman
5580 VOBIPS
2. %

Lakshadweep
1=t
g

3. %

Gulf on Mannar

. o8 dosrey

Question Number : 22 Question Id : 9032014525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which state 1s called the ‘agricultural epitome of India’
“GPEBBE HIah ForoED @ A TN HedatEol------

Options :



West Bengal
8o Bored

Uttar Pradesh
&8s (PGS

Tamil Nadu

3 % So¥oeih

Andhra Pradesh
SoS(BTS
4. %

Question Number : 23 Question Id : 9032014526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which river forms the famous Marble falls?
(DE0eId Frovron moard 30 © G0 voird

Options :
Narmada
Nle)loe

Lv e
Tapti
5308

2. %

Shravathi
la Nl )



Kaveri
el

4. %

Question Number : 24 Question Id : 9032014527 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which State has the deposits of Tertiary coal in India?
RBETTaNE” éj@cﬁ: f‘rp Reren éﬁ;ga: cﬁg‘@: &
Options :

Madhyva Pradesh

RS

Bihar

o 0

£

Odisha
v a.oap

Andhra Pradesh
©o(HRS

Question Number : 25 Question Id : 9032014528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



....................... is historically called the rice bowl of India.
————————— & TOGamSorr RSt S0 oEah SR bk

Options :

West Bengal

wt st =
D8 Jorrd

1. %
Tamil Nadu
ST
2. %
Kerala
Elsf]
3_ W
Andhra Pradesh
4V Zlollaltelals]

Question Number : 26 Question Id : 9032014529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The climate of Andhra Pradesh 15--=====mmmmmmmmmmeeeeeeee :
SoRHEE 48°JR8-——————--~ ™ B0t

Options :
And

1. % %ﬁ%

Humad
-@Lge:’s
2. % '



Semi Arid

3. .
Oceanic
rSEvvel({psfactal]
4. ®

Question Number : 27 Question Id : 9032014530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

India 1s the largest -----=------===----- producer in the world.
(BH0S50E® PESTSS0 ©&osSorr edg DR ———————

o

-

Options :

Barites
gDeTen

Mica
o|g8am

Coal
apa®

Chromites
| =, -EEI}

Sl

Question Number : 28 Question Id : 9032014531 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Mangroves largely occur i -----------==-------- :
HEDeY ©SGEI0E —-—-- & oibhDoHD

Options :
Andaman and Nicobar

©OESES oo J5°eE
1. %

Tamil Nadu

SME D
2. %
Leh
o=
3_ W
Ladakh
[Slals)
4, %

Question Number : 29 Question Id : 9032014532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Thorium 1s found 1 ==-=-====m=mmmmemeeeee .
F oS -————-6° 520D

g\

Options:

Andhra Pradesh
©olB|IXTS



Kerala

38¢

Karnataka

 Bom@s
3. % e

Tamil Nadu
ST

Question Number : 30 Question Id : 9032014533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Chenchu tribes mainly live on -----------=--------- hills.
Do ©Fd Nlad BNw (Panpanrr —--- Foked® DERohiod

Options :
Nallamalai

NSNS
1. v

Palakonda
TeoStol

Seshachalam
S8Se5mn

Veligonda
Do



Question Number : 31 Question Id : 9032014534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

............. has the distinction of having no uninhabited villages.
—————— TPTPPe0 O ((Paren B (HFEE 500 o0

Options :
Kerala
Elst
1.
Punjab
Dol
2. %
Uttarpradesh
&88 (BT
3. %
Maharashtra
DFoe
4. % -

Question Number : 32 Question Id : 9032014535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sloping roofs of the houses in hilly areas are an adjustment fQ==-===s====ss=sssszszzsszzssa- .
ot (FFosos™ aE)p Slpen e SQmpis------- ™ GOt

Options :

1. %



Low temperature

SE)5 SRS

High precipitation
©bE odPeEsn
2. %

Sloping land
n?@lé%}ﬁf) 2

3. %
Cultural environment
%o"n’:-;,&éé BoeRseeo
4. %

Question Number : 33 Question Id : 9032014536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following have limited linkage?
% (B0l AS® HOE eHdorraren GI8 S0
Options:
Town

E835000
1, % o

Farmstead
éjéﬁncﬁ:@ﬁaﬁ:
ol

Conurbation
NG HORDS {_ﬁ'ﬂoé 286
3 %



Megalopolis
SRS ROD

Question Number : 34 Question Id : 9032014537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following have place-work-folk 1somorphism?
& 8ol EE” wrdNE VDI BrHSEnD o%gms..::: 608" BenHsn.

Options :

Town
e
[}
1.9

Farmstead
ﬁ:é&&a@ﬁw
=

Conurbation
Tgle] Eﬁ@éiﬁ@“oé [DOE

Megalopolis
SeHS O

Question Number : 35 Question Id : 9032014538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Wet point settlements are located 1n...
2OSO(H 233dmren ————- &* EDisi(hplealav Ty

Options :

Arid areas
éa?é&&oaﬂm
1.9

Riverine areas
5088 [Frozeen

Coastal plains
S3ES Do

Fortresses
S eoeD

Question Number : 36 Question Id : 9032014539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Compact Rural Settlements are found in -------------

DodeE (e wddoeey ——-—-- & orhoho
Options :

Fertile Alluvial plains
1 ¢ POF0SDI Lol DurEne

Forested areas

5o (Fromred®
2. %



Hilly areas
ol (Fromred”

Semi -arid areas

n 'E"ué HE (Fozed®

Question Number : 37 Question Id

: 9032014540 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Places with a population of equal to or more than 100.000 are known as ............in

India.

3 [Fro8ine® vk 0F Bt ©odkol XN BPLE &)

=
20N
Options :
Towns
ﬂéﬁ:&é}:

Cities

SridSnen
2.9

Metropolis
DEFFOD

Megalopolis
4 % DESHFOD

Question Number : 38 Question Id

& D ----- © &

[=9

: 9032014541 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Agro based urbanization 1s predominant in ................

SHRah oerod K:ué.:m"—‘bm"““ ------ & Brdarg PhohdHo
Options :
Gujarat
gvEtiext]
Jharkhand
e=Spol
2. #
Haryana
SPoRgee
3.
Tamil Nadu
E=eilnd)
4. ®

Question Number : 39 Question Id : 9032014542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

..1s known as the ‘Ruhr of India’

dﬁg @D cpﬂééﬂ S50 —————- D DenHothd
Options :
Chennai



Tiruchirappalli

SBTHY
2. %

Hyderabad

SRLTRIRLD
3. %

Chotanagpur

TeroehSret
4. v

Question Number : 40 Question Id : 9032014543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

Collection Centre
88 Bolsw

Distribution Centre
HoDh SolEaw

2. %

Defence Town
geo a’%maﬁw

Tl'ﬁllSl]OI't centre
Saree Solam



Question Number : 41 Question Id : 9032014544 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Decomposition of Rocks 1s associated with-------------------- :

nomn W e - = = '\-"':._? S = g& - L
3o DPeP0 LRL———-- © JAFITNOE” i
-

Options :

Mechanical Weathering

e

Giro|&S 3Hexan

Chemical Weathering
SFCHR 3w

2.¥ =
Anthropogenetic Weathering
SRS ey Bhesn

3. %
Organic Weathering
508 IGeraw

4 ® - Mt -

Question Number : 42 Question Id : 9032014545 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Okhotsk oceancurrent OCCUIS [EAl======m==eeemecseeeeee—==- .
5578 S Jamll (Bardrdney-—----- SHE @rbBhoHs
Options :

1. %



Japan

i)

Kamchatka Peninsula

ESohey) Grdsesm
b (%)

California

SOOI

[=9

Malagasy
SDOMPR

Question Number : 43 Question Id : 9032014546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

High standard of living 1s indicated by large-----------=-=--==----- .
B8 833 (Hareain oHI0 —---- npgerdigvielolntalastny

Options :
Production

Ty
- ©&Een

Consumption
Eakalevhilatvhe)

Imports
Siaosoen



Exports
Qirbsnsoen

Question Number : 44 Question Id : 9032014547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ocean Currents 'Df -------------------- Ocean are sea .‘501131 ill natire
DTS (PP oad----- S [atvnlay éé’?ﬁ?}gmm wdir andPed
s

Options :

North Pacific
ﬁé&ﬁ g o 1451

North Atlantic
588 oerods

Indian

a, 4 A &
SO R am| 8

South Atlantic
&80 werods

Question Number : 45 Question Id : 9032014548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which human activity is affected the most by climate ?
%@’E‘g NEVN o) BEDN PR 5"6;5&"”5‘@ @:cé; (Dgrdcn @fSnr Hthdodk.
= L

hram

Options :

Fishing
DR DG

1. %
Farming
EVE Lo ve)

2.

Industry
HO(E.
3. %
Mining
Ko SarSam
4. %

Question Number : 46 Question Id : 9032014549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The rocks which disintegrate fast are-----------==-=========mon--- :
It evia DY odoGy doen DD

Options :

Coarse - Graimned Rocks

Sro - Benaye Been
1.

Fine Gramned rocks
or0a) Otnaye deen



Light coloured rocks
3 % SP08 P deen

On steep surface

o b

P aB0S0IWDR

Question Number : 47 Question Id : 9032014550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :

Valley Lengthening
&Fod FED

Valley Widening
& o Jken)

Valley Deepening
&0 Orism

Valley aggradation
& o DY BSeaaio

Question Number : 48 Question Id : 9032014551 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

River Piracy leads to ---------=======mmmmmmm-- :

S0 (Eeodn —=——-- Fo Do

Options :

Valley Lengthening

SFh PEH
1.4

Valley Widening

o .= 2

> % g°ch '}JCS&J’DJ

Valley Deepening
&0 Brrdam

3., %
Valley degradation
&0 Q) BSeasin
4, %

Question Number : 49 Question Id : 9032014552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

High Pressure areas are found close to----------==--====------ :
©Os VED (Froren———————- &° SHEe @ihRoth

Options :
0 degrees latitude N & S

Do) Blf oo asd Hodw &8s
1 % o . — [y



90 degrees latitude N & S

90 &fio Bgs Koo B8 eFomrainen
2. %

30 degrees latitude N & S

. 30 &fio B88 ook SEB efoesines
3. .

5 Degrees Latitude N & S
5 &lfio agd ook B8 eBomeainen

Question Number : 50 Question Id : 9032014553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e —————————— OTES5E 1"? 1e areas o ECH 111.

p tl f cal
oo o T e e e el ) R S odoaaen
Hzrostn @) (Fromren °0 TR0 DERHE0en

Options:

Sub Tropical High
&% ©chody «fSam
1.¢

Sub Polar Low

BHDHS v
2. % =

Equatorial Low

A n
- FrG0p v



Tropical Low
©dD Ty O

Question Number : 51 Question Id : 9032014554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The type of rainfall which occurs daily in the Equatorial areas 1§-------------=--- rainfall.
@88 4By Broding® Sogdod Hongrh----- o) Bor
Options :
Orographic
el BV
1. %
Cyclonic
S(Eaee
2. %

Convectional

3 @ OSSR
Relief
Soeano

4, =

Question Number : 52 Question Id : 9032014555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Sub Polar Low Pressure belt 15 ======mmmmmmmemmma- induced.

el I oDEd TOPEPY ——————— o (HoBoHDH
Options :
Thermally
B0
1. %
Dynamically
Hé8ean
2.9
Mechanically
vital[LI=Fviy
3. %
Physically
FTasw
4. %

Question Number : 53 Question Id : 9032014556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :

Crevasse
SPaDLE



Tam

&5,
3.%
Hom
E“‘;:.JJ\
' ¢
4. % =

Question Number : 54 Question Id : 9032014557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

.................. has more of latent heat.
_______ LS MHEBagn SON sotnol

Options :

Snow
e rvie)

Ice

Water
23805000

Water Vapour

=
o o o =
o) @230

Question Number : 55 Question Id : 9032014558 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Terra Rosa 1s associated with the =---=sesmeaaem-- cyele of erosion.
JBgraive daygdsne----- EDgoh SEandes 28D

Options :

Fluvial

T -
0SS

Glacial
e v vl InTatuyy

And

DX

Question Number : 56 Question Id : 9032014559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Fretted and Fluted land surfaces in limestone areas are know as =--=-=--=-=ssseeseeanes ;

@RES 900k $pof frestdeod BYITs @Foswd® ---m--- © SV
Options :
Sinkholes

Dgg)BBo|Fem
1. %



Swallow holes
%ﬂ;@ﬁa rooten

2. %

Lapies
eREIED
3. ¢

Uvalas
dansreen

Question Number : 57 Question Id : 9032014560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Drumlins are deposits associated with --------------==-==--—- cycle.

- - £ == - -
(EDDJe Vgaren ———--- JFES° SAEIN Torw

Options :

Fluvial

obs
1. % s

Glacial



Karst
SulepN]

Question Number : 58 Question Id : 9032014561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Daily Range of Temperature 1s lesser in the --------=--===------- areas
[ Y ﬁ'ﬂ B sl : —r
(WIS ﬁ@‘:lﬁé ——————— plelaplSloN ﬁ?ﬁ)goJF‘F‘ BOID

Options:

Continental
Filelnlela el

Martime

e, AN
[l (Heedes
> (VE:

Tropical
3 % ©COITY

Mediterranean
53::@,“‘5;&{5

Question Number : 59 Question Id : 9032014562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



=

Abrasion. Deflation and Attrition are associated with the erosional work of--=ss=seen== .
50206, i8S HOdn Trhie dap¥dine dod -------- e (SEaD Sihen

38O
Options :

Rivers
~adhen

Wind

o
SJadrdoadl

Glaciers
PR Ganen

Waves
sdorren

Question Number : 60 Question Id : 9032014563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Playa Lakes are associated with---------------- cycle.
Holr 380 ----- B0 JEYFHIINOE EDJEOKD

Options:

Fluvial

0T
1. %



s
e
2.
(Glacial
e tanen
3. %
Karst
=5\¢5
4. %

Question Number : 61 Question Id : 9032014564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Karst topography develops predominantly in areas of -------------------- ;
=058 Yo @ o0 (Bangdnr ——---- Sromred® asirHid
=0 5 < QQ@G LG..I oo o

Options :

Dolomite
Sooed

Chalk
[0S
[

Granite
il

Limestone
o
o AL 0 TP 000



Question Number : 62 Question Id : 9032014565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When two glaciers cut a mountain ridge back to back -----=----=------ are formed.
- X aT, L= = g o o
QRS Toh Erdtanm H8ESoled ot daboh &0A FDEH----- AHD

Options :

Homns
::I:.Ex]m
[
1. %

Aretes
oD

Hanging Valley
, QORIFEIEC

Roche Mountonnee
5D STos
4, % =

Question Number : 63 Question Id : 9032014566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
(Glacial lakes are known as----======mmcmmuu-- :

sl o il R T S oy 8 2y B m,
ool wﬁw&pjﬂ:m ————— el dendnihad

Options:

1. %



Tarns

eDyen
(=N

Cols
BT oy

, x SO
Cirques
Sranrigsnen
Botn
&°eN

4. % o

Question Number : 64 Question Id : 9032014567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Freezing action of water leads to ------------------ of rocks.
DA PoDYHS 58 ©0I0 oo ---- Voo

Options :

Disintegration

., O
aJiJ e
-

Decomposition
D0

Putrefaction

w T, D~ 2 ey
3 % é.'@gw wdm



Anthropogenetic Weathering

I R Y s
ellPro) 8E2cde) DEIETeIDD
G d

Question Number : 65 Question Id : 9032014568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Till deposits are associated with ----------- cycle.
&S JgHawen EwE) HAFITON---- B0 wotrd
i
Options:
Fluvial
NIty
1. % i
Glacial
EeLVOEAPY
2.
Arid
B
3. % -
Karst
553
4. % 2

Question Number : 66 Question Id : 9032014569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Till deposits are associated with ----------- cycle.

-

8BS JgHmen TnE) JAFSswes---- B0 ©otrd
L=



Options :

Fluvial

ﬁ:ﬁ%é

Glacial
ePsNRRG

And

oo

’f'l:'ﬂ.d__

Karst
outatn]

Question Number : 67 Question Id : 9032014570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

An Amphitheatre like erosional feature formed by glacial erosion is known as------------
PR SHED Fohde Jod M)A drod8td BRHEKRY) ---- votrt

Options :
Cirque
Coc v Ta{ethy
1.4

Crag

=R

Kdejel
Elat=t



\"
4 % OTAQ S5 sawen

Question Number : 68 Question Id : 9032014571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The relationship between altitude and temperature 1s-----=--======---=- :
= i 2 B = ﬁ iz ] - ﬁ Wl sy 1 R R G P r] [‘53
N8y O ﬁu.%&L_ So gk e Soworrd) QOLT

(=N

Options :

Direct
G

Inverse
=y "“‘\-u
L D6

Parallel

Haroddanre
3. w

Simultaneous

A g -
) SSPEIN

Question Number : 69 Question Id : 9032014572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Inselbergs are erosional features associated with --------=-=-------- cycle.

s RSier G BHEe Srotpe---—-08 SN KFEim Towd
Options:
Fluvial
SL5E
1. %
Glacial
PR
2. %
Arid
Ly
3.¢ -
Karst
580
4.% 7

Question Number : 70 Question Id : 9032014573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Mining 1s a ----------------- activity.
o T o
Hedve (GarSan el 8
Options :

Primary
SEE

Secondary
Er&ah
==



Tertiary

e300
2
Quinnary
80330
4. % "o

Question Number : 71 Question Id

: 9032014574 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Stony Deserts are known as------------- .

D‘“’%’E‘; RO ——————— e 105

Options:

Hammadas
TP e
1. %

Loess

Bolson
5‘5\15
Tl

Whalebacks

o O -
Soriesn

Question Number : 72 Question Id

: 9032014575 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

................... are also known as dripstones.
———————— o Zree ot mé{) © ©otrd

eh

Options :

Dolines
EBoen

Terra Rosa

B
2. %
Stalactites
esdoen
3.+
Lapies
PN
4. %

Question Number : 73 Question Id : 9032014576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Mechanical Weathering 1s also known as -------------- :
arol®8 38esoid Srme-------- ©d e
Options:

Physical Weathering
T &5 30ersn



Decomposition

D H0EI0
2. %

Putrefaction

é}ﬁi"ﬁé a3
3. %

Anthropogenetic Weathering
PR 2R03Dersw

4, #

Question Number : 74 Question Id : 9032014577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Equatorial Low Pressure belt 1s ------------------- induced.
FrDG0P VLRDEY PYPO —====== B (20850 DA
Options :
Thermally
€36300330
1. ¢
Dynamically
K&8e5m
2. %
Mechanically
giro| &850
3. %



Physically
F&55w

Question Number : 75 Question Id : 9032014578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arid areas comprise----------------- % of the earth’s surface.
£ - L | = L f b
e eHbdwn E;;;‘é;o;meﬁi ——————— TS0 DR (Erodsn DG

[ @] S

Options:
4

Question Number : 76 Question Id : 9032014579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

-------------------- develop when hard and soft rocks are vertically disposed in an arid

18 &0k HFS oo HiY (@FoSindG” JuYe eHHpd ----- o el

==



Options :

Yardangs
cSe8rofien
1.+
Demoiselles
Eran e
2. % '
Bonhardts
55585
3. %
Zuegen
rats)
4. %

Question Number : 77 Question Id : 9032014580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pedestal rocks are a result of the work of ---------nn-m-- -
———————— Qo) B8 eaneOrr DEFS Boen SOl

-

Options :
River
Wind
Seoraean
2.9

Sea erosion

I [t fevebe



Underground water

oS e
4. % ¥

Question Number : 78 Question Id : 9032014581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Specific heat of -----------=------ 1s more.
DY egsin----- & Q55N SOt
Options :

Continents
POEEeD

Rocks

Soen

Land

&30

Water

Question Number : 79 Question Id : 9032014582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Equal solar radiation is received in both the hemispheres on---------------- :
adoy, G5Y FEsnod® SErsDs 5% DEBrasn------- T YDoutiidD

Options :

June 21st

-
215 =0

1. %
December 222
225 &onb
2. ®
March 21st
213 3o=0
3. % =
i . 4ohd
October 22
225 o5 nd
4, &

Question Number : 80 Question Id : 9032014583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The troposphere extends up to a height of -------------- above the Equator.
GGy By ol ------ D) IV (TN w5 V0oH oD
Options :

6 kilometres

6 38° Dol

1. %
12 kilometres
12 &&° Snetd
2. ® e



20 kilometres
20 85" ey
16 kilometres
16 35° Snedy
4.

Question Number : 81 Question Id

: 9032014584 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Albedo 15 ------------------ of solar energy.
OB)F oL VLS Twg) ——-—-

Options:
Reflectivity
H&fono

1.+

Absorption
helacEvoy
Utilization
Laralovstataby)
3_ W
Inclusion
@oeﬁ;&f&a
4, %

Question Number : 82 Question Id

: 9032014585 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Isotherms are placed -------------- in the northern hemisphere.
SIAFLOpe wdT M Eand ------ M S0
Options :
Closely
afafeley
1.4 ,

Far apart
) % TPOLREED

Equally
3., %

Alternating close and far spacing
4% 088 S8 o0a» rer Lrdan

Question Number : 83 Question Id : 9032014586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The normal lapse rate of the atmosphere 18 ---------------- ;
T8 GnE) Perdes &ﬁg Sove (B0 -—---

Options :
6.5° C/1000 metres of ascent

6.5° & 2o8@HE / 1000 el ©68 e
1.9



4.5° C/1000 metres of ascent
4.5° &6 2080E / 1000 Hd o8 e

2.5° C/1000 metres of ascent

3 x 2.5° &8 RoSFEE / 1000 Sy 048

60.5% C/1000 metres of ascent

4 % 60.5° & 20808 / 1000 e 0685

Question Number : 84 Question Id : 9032014587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Areas with -----=-=-eeeuv absorb a lot of solar radiation.
Sl D880 TreR DT —--- (FPozred” b
Options :

Vegetation cover
By dodd 538
1.4

Sllﬂ'ﬁf cover
3P05m 856

2. ®
Cloud cover
Bdwe 538
3. %

Water cover
moan 8586

4. %



Question Number : 85 Question Id : 9032014588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The content of water vapour in the atmosphere in the ------------- areas 1 mMaximuil.
————— Fozred® ©dpsinm 98 00 FErEbning” 5DaNom

Options :
Polar
o CS&,;\.

Sub Polar

DD
.

Temp erate
o, '\-H-._,:I'l'.l gﬂg‘\

Tropical
8050y

Question Number : 86 Question Id : 9032014589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

-------------- keeps the ports and harbours of Great Britain open ﬂu‘oughﬂut the year.

06 Dol6%0 LuBder Hookn THFahines Sodd) Ingin ------ O T 859
G0EnNE

Options :



North Atlantic Drift
68t ool (6T

1. %
Gulf Stream Drift
BBy A
Okhotsk Current
8508 [Harsran
Canary Current
500 |Pardraw
4. %

Question Number : 87 Question Id : 9032014590 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

---------------- State has the highest proportion of population below the poverty line in
India.
PESTENE’D —————- més&:;@* 008 DYBE° wrrer wOEDRD OIHSS Som

Options :

Odisha

1.+

Sikkim

9 L=
oS0
b



? thar

Y 3
850
3. %
Megalaya
Prodir
4, %

Question Number : 88 Question Id : 9032014591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arid climates in Koppen'’s classification are indicated by the alphabet...............
SN 08860 Hdan HF) 8TERE 5B (058 (Sain) (F8am HOohm

O

Options :
A

1_%5

Question Number : 89 Question Id : 9032014592 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Temperate climates in Koppen's classification are indicated by the alphabet............

SN ww?ﬁea (Betan 8 fi‘*’&i}u ------- o) oF8ar Hiodhin

Options :

A
1. %

Question Number : 90 Question Id : 9032014593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Extremely cold subarctic climate is denoted by---------- by Koppen.
SR)Y) BEEn odod 4o o o085 4875080~ 2 HBohEw

Options :
Dfa

Dib

Dic

Dfd



Question Number : 91 Question Id : 9032014594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tropical Monsoon Climate 1s denoted by -------- by Koppen.

[

5")N) (P80 050D DI LI o @8 Hoohn
Options :

At

Aw

Am

Question Number : 92 Question Id : 9032014595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Mediterranean hot summer Climate 1s denoted by -------- byKoppen.
Enlayaloy @é:ggéé&- ‘fi@‘fé%iﬁ E?EJDEE (BDsedain —=---F GOt
Options:

Csa
1.



£
o
=

BT

Csbi

Question Number : 93 Question Id : 9032014596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Antarctica has =----=====-- climate.
Eoe:m’:‘.:_e”asﬂ ————— %é"gﬁg@:{) 5D 000D
Options:

Tundra
1 % EJZIDi-:T'

Sub arctic

&l &5
2. ® =
Boreal
fas 08
3. E
Ice Cap
ST %5"'3:‘@:
4, &

Question Number : 94 Question Id : 9032014597 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which are renewable Natural Resources?
PRI%eEEHE SFre el UAN ©otrd?

Options :
Plants

S0Ben
1.9 o

Fossil Fuels
Jere [oLN0o

Soil
S Es
T

Minerals

4, ®

Question Number : 95 Question Id : 9032014598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Water cycle 1s a ------- resource.
e JSan ol —--- 8%
Options :
Abiotic
- 0=

Non-Renewable
DRSEED
fo e



Renewable
)oY éﬂ;@

Recyclable
» Eleiilevvlptiotalatghlal

Question Number : 96 Question Id : 9032014599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Solar power is..........resource.
FTE88 OO ——=—- vPNley
Options :
Abiotic
. oRDS
1. %

Non-Renewable
PSR

Eenewable

DIBEG

Recyclable
PR ARPHDHBLENIL

Question Number : 97 Question Id : 9032014600 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Geothermal energy is ------------------- :
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Options :
Conventional power
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Question Number : 98 Question Id : 9032014601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The potential of an area for tidal energy 1s based on------------

See %ﬁ%“aﬁm 2.5 (@rodsm s dograpd----- il FATATO VYV o TAENY)
Options :
Utility
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Origin
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Question Number : 99 Question Id : 9032014602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Solar Energy 1s------------- :
L8 wDI0-————m-

Options :
Inexhaustible
rlelgty

1.9
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Question Number : 100 Question Id : 9032014603 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Banking and insurance activities fall under the category of ............. sector.
aero8ofl S0ain P sESeraren-—-- Sorfan Bod Sirow
Options :
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